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We will now learn a method to treat more complicated integrals for which normal
substitution will not work immediately (always check!). This method involves using
TRIGONOMETRY to make a creative substitution within an integral.
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NOTE - Cosecant, secant, and cotan are reciprocals! 1

o SOHCAHTOR i) B, Cos(e)= g » ThE): A%Ef‘

oVa e Given anintegral of a particular form, we will use one of the TRIANGLES
® (L, 11, 111) along with SOHCAHTOA to CONVERT everything in the integral
from "x" to0 "6". One we do this, the integral will be computable. We then

go back to "x" at the end! The is called the METHOP OF TRIGONOMETRIC
SUBSTITUTION.
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